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QUESTION 1

ABC Inc. is in the process of consolidating the financial data entry functions. There are three divisions: 

A, B, and C. They are defined as three separate Operating Units that share a Legal Entity and a Business 

Group. 

To meet your client\\'s requirement, you perform these actions: 

1.

 Create a standard security profile and assign it to the three Operating Units. 

2.

 Consolidate responsibilities and assign the MO:Security Profile option with the security profile created. 

3.

 Run the Security List Maintenance program. 

4.

 Create a global security profile and assign it to the three Operating Units. 

Select the sequence of steps to be performed. 

A. 1, 2, 4 

B. 4, 2, 3 

C. 4, 3, 2 

D. 1, 2, 3 

E. 1, 3, 2 

Correct Answer: E 

 

QUESTION 2

XYZ Corp. is in the business of manufacturing cosmetics. It obtains and pays for raw materials. Which business flow in
Oracle E-Business Suite Release 12 would map to the activities of obtaining and paying for raw materials? 

A. Order to Cash 

B. Procure to Pay 

C. Forecast to Plan 

D. Demand to Build 
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E. Contract to Renewal 

Correct Answer: B 

 

QUESTION 3

If the user has to set Multi-Org preferences, the System Administrator has to assign _____. 

A. the User Preferences function to the responsibility 

B. the Multi-Org preferences menu to the responsibility 

C. the User Preferences menu item to the responsibility 

D. the Multi-Org preferences function to the responsibility 

Correct Answer: A 

 

QUESTION 4

You are working on an implementation of Oracle E-Business Suite Release 12 Fusion Business Intelligence. 

Your client has three requirements: 

1.

 Ability to monitor customers and the collection processes 

2.

 Ability to perform complete procurement analysis from Requisition through Payment 

3.

 Ability to identify the customers and transactions that are providing maximum profit 

Select the three Oracle Fusion Business Intelligence products that would meet your client\\'s requirements. (Choose
three.) 

A. Oracle Sales Analytics 

B. Oracle Financial Analytics 

C. Oracle Marketing Analytics 

D. Oracle Supply Chain Analytics 

E. Oracle Order Fulfillment Analytics 

Correct Answer: BCD 
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QUESTION 5

The Accounting Flexfield of ABC Corporation is: Company. Department. Account. Cost Center. Identify four correct
statements. (Choose four.) 

A. Company is a segment in the combination. 

B. The account code combination is a Key Flexfield. 

C. The account code combination is identified by a structure. 

D. The account code combination is a Key Flexfield as well as a Descriptive Flexfield. 

E. The Flexfield appears on your form as a two-character-wide text field with brackets [ ] as its prompt. 

F. Existing values for the Accounting Flexfield appear as a concatenated value having segment separators. 

Correct Answer: ABCF 
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